R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4220-21.dwg, TX-4220

Endura

PR ODUCTS, I

8811 West Market Street
Colfax, NC 27235

Glazed Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Steel Door system described herein complies with the 2006
International Residential Code (IRC), Sections R301 & R613 and the 2004
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404
(including Texas revisions) subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-bome debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# DESCRIPTION
1 Typical elevations, design pressures & general notes
Astragal details (Ultimate Huricane)
Door panel details (lip lite insert glazing)
Horizontal cross sections
Vertical cross sections
Frame anchoring

| |W N

73.94" MAX. FRAME WIDTH

81.69" MAX. O.A. FRAME
HEIGHT (INSWING)

80.88" MAX. O.A.
FRAME HEIGHT (OUTSWING)

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33585
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By
WPhone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-—11852

ENDURA
PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

INSWING +30.0

REVISIONS

NOJ DATE

XX
OUTSWING +30.0

oAt 9/06/12

SCALE: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4220

sHeer 1 oF 6

@ 2012 R.W. BUILDING CONSULTANTS INC.



*ON| SEANVLINENOD SNIGTUNG 'M'S 2102 §

SNOISIAZY
ZSBLL—d # NOILVMISIOZN 40 ILVOIJLUNID NH ZLYALLTIN ON
SHIANIONZ TYNOISSIHONd 40 QNvOS SvxAL mum_.q_‘mw.mmu IVOVMISY ) A8 31vad m ” .Ku o m_ 6_
LB16°6S9'CLE "ON Suoud : o=l |17 8
GBGSE —14 OOMIDA OFZ Xod O'd \u\w@. ATBNISSY d0 Luvd § = Y 2_
*ONI "SINVLINSNOD ONIaTING ! £lzle =
G
g S vINaN3 dl2lel2lE |B
.uwup.uhrﬂuw ﬁ uopukl  :4g peundeug susiunaog :19Na0xd S m 3|8 %
UWN
AP " Q\ﬁv.
P 5 o .....w.U‘. ‘o -
AL TN 2
o LOINHOS 3 NOGNAT & =
B O
D% M-..\& s Waﬁ, Ll wd
ﬂu.. »mtv.- .a.l-..,.ssh,m\ s ..-.rl :...l..l A
& mnm .......... 4 Noosy )
WMIII e AN -
r.ﬁﬂ.sﬁﬂ..ﬁf.r.?.uht{ ﬂ
<g
WOLI08
=
&3
% + I
- - _
L
4
oo oL
: ! ﬁ % W
I S o
3 Q z
= o I
™ 25 8%
k | | 0o <z N
: &
e o
2 3
« @
- Q
s
B || 3 5
z QO
m ()
S O 3
g g
o x
° B o
> 3 =
] > - o3
= © 3*
wu 3+
) 7]
2 g
—_ =l
| 3 o)
= 5
: @ b 33 w0 = % £
<« 1 Q S =] — - =
\ H 1 = wi|'g
(@] @ = Z|5
| ¢l
| 2 > o Bl
s O o -
— < e &l o — [0
= o e =iz mu_ o
e B Ol -5 b Il
x5 o|i— =
: 813 ] _! 2
m muiow w :OWO
o
| | ﬁ
o —_—
|
mD _ - |
3k 3
— ~0
o <
’ =
+ = 7
z m | WW.N | A
~ g o W
=] < =
| 3B m
Oy 1| Ay = 8 R &
.%i 111 ] wm . =
g 1.1
2 e
=
4 T : 15
bR £ 3 < <
o @ PN z >
A —
vy 5 O e
(=% o U
- L
= fa]
4oL 2 z

Z-1 'BMp 1Z-0Z2H-X1\sBuimela Damy "a\s/9T 4d\00LT - T09T [oid\stapiod wafoid\sioafold - v\




R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4220-21.dwg, 1-3

INTERIOR
—] 12" = ———— Gl 31" 1.2" =]
g £S = %
; / /
Z EXTERIOR
HINGE STILE :
(POPLAR) 12' LONG LOCK STILE
LOCK BLOCK (POPLAR)
(PINE)
/" 1"\ HORIZONTAL CROSS SECTION
\3/

3575 MAX. _, N

PANEL WIDTH

21.0" MAX -

D.L.O. WIDTH

E 3 3 #6 X 1-1/2" PH SMS
GLASS BITE 7/16"
INTERIOR
5" 1/2" NOMINAL GLASS THK.
1/8" TEMPERED GLASS
& L — AR SPACE
QO Q < Q ~
Sm 2§ s y ~~—1/8" TEMPERED GLASS
3¢ 39
o -
N < = STEEL SPACER
EXTERIOR Q'SO SEALANT
LOW TACK SEALANT
G1)-GLAZING DETAIL
Lip Lite Insert Glazing (RSL)

Insert glazed

CREST

(steel)

e .75
TOP RAIL
(POPLAR) N |
-~
1
FOAM CORE
(POLYSWRENET\
INTERIOR B EXTERIOR

STEEL SKIN
(0.020" MIN.
THICKNESS)
8!
8
CHO)
R
o%ele
BOTTOM RAIL — 1 1
(PINE) _\\‘g in
_,—/ 3
S[=ZHK

@ VERTICAL CROSS SECTION
3

Lynden F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

©
n=
=N
=3
Lo
s N
>| @tg
s |g 32
@ 2l =
0 g pd
2 S5
e el
o o Q&
2 o |
o b S
el |E
o o
&
78]
z
=
wn
o
Lu
<
o
O
=
oaTE: 9/06/12
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4220

SHEET 3 OF 6

@ 2012 R.W. BUILDING CONSULTANTS INEC.



1/4" MAX.

S

SHIM SPACE o P
EXT. SHEATHING (TYP.)
2X FRAMING e e — #10 X 2.5" PFH WOOD SCREW
(G >=0.42) _\
JAMB
9 ENDURA WEATHERSTRIP
(QEBD/PE 650)
INTERIOR
N
/ EXTERIOR
DRYWALL e
#8 X 2.5" PFH WOOD SCREW #8 X 1" PFH SMS
#8 X 3/4" PFH SMS 4" HINGE

/ 1"\ HORIZONTAL CROSS SECTION
W Inswing shown - Outswing also approved

7

T~ DEADBOLT: KWIKSET SIGNATURE SERIES
/ (980/985)

// ™ LATCH: KWIKSET SIGNATURE SERIES
4 (991)
/
CORNER PADS (TYP.)
/

ULTIMATE HURRICANE ASTRAGAL

ENDURA WEATHERSTRIP

(QEBD/PE 650) / DOOR PANEL

-

#8 X 3" PFH WS

A\

#8 X 1"PFH WS

@ HORIZONTAL CROSS SECTION
4

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595

Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

_3
==
g |y 33
S g5,
LJ o D&
7] xg
. 9 o
= x
§ (o]
._
o o
& &
&
%)
=z
o
\%]
|
[i4
=
S
o
=
oatE: 9/06/12
ScALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4220

SHEET 4 oF 6

R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4220-21.dwg, 1-4

© 2012 R.W. BUILDING CONSULTANTS INC.



2X FRAMING
(G>=0.42)

—

EXT. SHEATHING \

e / DRYWALL

1/4" MAX.

L 10X 2.5 PRH
» 00D SCREW

SHIMSPACE |

DOOR PANEL \

0.15"
C'SINK
(TYP.)

ui

\— HEAD

ENDURA WEATHERSTRIP
(QEBD/PE 650)
EXTERIOR INTERIOR
DOORFANE. x 1"\ VERTICAL CROSS SECTION EXTERIOR INTERIOR
ENDURA WEATHERSTRIP A\ 8/ 8;’:,5‘(;"2;‘3,393‘3’" -Ehng
(QEBD/PE 650)

ENDURA THRESHOLD
(Z-SERIES OUTSWING )

INTERIOR \
=rar
—-=

/ EXTERIOR
.

e

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
ITW CONCRETE SCREW

/" 2"\ VERTICAL CROSS SECTION

\5_/ Outswing shown

/i
DOOR PANEL v\
ENDURA DOOR SWEEP \
(DBK-R) %\

ENDURA THRESHOLD
(Z-SERIES INSWING)

mns

3"\ VERTICAL CROSS SECTION
W Inswing configuration

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
ITW CONCRETE SCREW

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

ENDURA
VERTICAL CROSS SECTIONS

PART OR _ASSEMBLY:

PRODUCT:

NOJ DATE

REVISIONS

DATE: 9/06/12

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

TX—4220

SHEET 5 oF 6

R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\‘l'x-4220-21.dwg‘ 1-5

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4220-21.dwg, 1-6

o 2X framing (by others)
= w =
3
w98 ' 7 - £,
© 8 (mve) l* & :
= [vp) |
1 |
SEE HINGE . T = —{
\
DETAIL 1 T #10 X 2.5" PFH DETAiL 1 .
& WOOD SCREW s
~ (TYP. @ HEAD =
1 AND JAMBS) =)
l 3 N
: ~0
SEE HINGE
DETAIL 2 |
> o
= <
DETAIL 2 2 E
inO
T o)
£ (TYP) QI‘I #10 X 2.5" PFH WOOD SCREW
2" (TYP.) 1/4" X 2-3/4" ELCO OR
HINGE JAMB ITW CONCRETE SCREW
(TYP @ SILL)
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME ANCHORING
CONCRETE (MIN. 3000 PSl) XX
WOOD (G >=0.42)
CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

W

rapCON® | 14 1-3/4" 2172 ¥
Elco " L 1 1] "
ULTRACON®| 1/4 1-3/4 1 3

/ #8 X 2-1/2" PFH WS

-

o
Lo
@]

AN

5%

#8 X 1" PFH wsé 48 X 3/4" PFH WS

— 4" X 4" HINGE

\
A

HINGE DETAIL 1

Astragal Strike Plate

@ Head Jamb
= I\?\:\I ==
N\
#10X 2.5" PFH WS
DETAIL 1
3/8" DIA.\HOLE
|
DETAIL 2
| #8X2-1/2'PFHWS
o [
. o=
#8X 1"PFH wsé:. | = #8X 3/4' PFH WS
— 4 X 4" HINGE
\\\
HINGE DETAIL 2

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

ENDURA
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

NOJ DATE

REVISIONS

paTE: 9/06/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4220

SHEET 6 oOF 6

@ 2012 R.W. BUILDING CONSULTANTS INC.



